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A1-1 A1-2 A1-3 B1-1 B1-3 B1-4
BHIXE ifa) s} ifa) £ £ 0 NEZOA
&BS =6 =62 =6 =8= =8= =62 B
(meg/kg) | (mg/kg) | (mg/ke) | (mg/ke) | (mg/ke) | (mg/ke) (meg/L)
HEE 150K 150U 150K 150K 150K 150N | O.O5MR
O0~05 280 190 790 280 450 1300 0.19
h 1.0 79 590 200 270 360 3000 010
= 20 41 10K 32 46 11 29 0.04K%
72‘ 30 10K 10K 10K 10K 10K 0.04K%
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B1-5 B1-6 B1-7 B1-8 B1-9
BHIXE £ ia) ia) ANl mpA ia) ia) NEoZOA
=] =6= =6= =6= - unt =6= =6= Bt
(mg/ke) | (meg/ke) | (meg/ke) (me/L) (mg/ke) | (mg/ke) (mg/L)
HEE 150U 150U 150K [ O.O5UF 150U 150K [ O.O5UF
O0~05 480 730 970 007 460 310 007
#h 1.0 1800 470 710 0.04K% 31 300 0.04K%
= 20 22 31 920 0.04Ki% 170 10K 0.04Ki%
72\ 3.0 10K 10K 10K 160 10K
5’3 4.0 10k 140
o 50 10K
= 6.0
~ 70
m | 80
90
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B2-1 B2-2 B2-3 B2-4 B2-5 B2-6 B2-7
BHIXE s} ifa) ifa) ifa) ifa) ifa) ifa)
&BS =6 =6 =6 =6 =6 =6 =6
(me/keg) | (meg/keg) | (mg/ke) | (meg/ke) | (me/ke) | (meg/ke) | (me/ke)
HEE 150K 150K 150K 150K 150K 150K 150U
O0~05 650 540 1600 760 820 400 550
h 1.0 120 200 100 480 980 330 1100
= 20 10K 10K 72 15 10K 10K 56
72‘ 30 10K 10K 55 10K 10K
> 4.0
250
55 6.0
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m| 80
90
100
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B2-8 C1-4 C1-7
BHIXE ifa) ifa) £
&S =6 =B =6
(me/keg) | (me/ke) | (meg/ke)
HEE 150K 150K 150K
O0~05 480 1700 350
h 10 550 120 550
x 20 17 28 26
7%‘ 30 10K 10K 10K
40
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m| 80
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100
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